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In 2011, on the popular American TV quiz show, Jeopardy!, two champions *competed against a
brand new *opponent. Both Ken Jennings and Brad Rutter had won millions of dollars on
Jeopardy! Jennings once won 74 games *in a row, the most ever. Then Rutter beat him in a
tournament and set a new record for the most money won on Jeopardy! Their new opponent,
Watson, had never appeared on the game show and had only played practice games before, in which
he often got answers wrong.

However, Watson isn’t human. He, or rather 7t is a machine, a wonder of technology ( 7 )
by researchers at IBM. In the game, Watson used math to decide on an answer. When a question
was read out, Watson was immediately given the same question in electronic form. It *analyzed
the question and searched its memory bank —about the same as one million books of information—

(A4 ) possible answers. It then *narrowed the options down to one answer. If Watson felt
around 75 percent *confident about the answer, it would answer the question.

The way Watson thinks is very different from the way humans think. People often make
decisions by listening to their emotions and feelings, even if they are unsure of the answer. As a
computer, Watson couldn’t do (»this. People also watch and listen to those around them. Watson
was not able to “listen” to the wrong answers given by his competitors. In one question, Jennings
answered the question incorrectly and Watson later answered with the same wrong answer.

Watson also made *silly mistakes. In a question in the *category U.S. Cities, Watson incorrectly
answered 7oronto, even though the city of Toronto is in Canada. An IBM researcher said Watson
got confused because it saw in its memory bank that the U.S. is often called America. Toronto is
considered a North American city, so that was the answer ( = ) Watson gave.

Still, Watson defeated his human opponents somewhat easily and received the $1 million prize.
The other players also won money for participating in the special game. Everyone left the game
happy, as each player was earning money for a different *charity.

(Source: Neil J. Anderson, Active Skills for Reading 1)
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On Jeopardy!, Brad Rutter won more games than the former champion Ken Jennings had.

Watson answered the questions asked at the quiz show by referring to one million books.

® e

The human players at the quiz show made silly mistakes, such as mistaking Toronto for a
city in America because they depended on their feelings and emotions.
@ Jennings and Rutter both earned money for taking part in a special game in 2011, which

was a happy result for everyone concerned.
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I'll never forget ( ) that beautiful sunset from the beach in Hawaii.

D see ® sees @ to see @ seeing

(1) FAIBEDFNOT, SIEMHEENDLIKUTRD A,
I have a stomachache, so I don’t ( ) like eating anything now.
O want ® mind @ sound @ feel

8) T T4 —IXTDEITEEODHET, I5EMT X TEWTWE L,
Andy ( ) for the bank for fifteen years by the time he left.
O worked ® has worked @ had worked @ has been working

9) ZFOF—20ENY, FLVVa—FOZLE M) EHA,
The new coach is not known ( ) anybody on the team.

@ for ® to @ with @ on

(10) fITERIC—AFmphia L <, EEZTE TS EE L,
( ) very hard over the weekend, he finished the project.
@ Studied @ Had studied @ Study @ Having studied



E3M WOKILD FHFBOHNGER « FEHEMNICR> TN Db D%, O~@D 5 b bZnEi—
DEEUPR I,

(11) Iremember meeting him in the morning of July 31, three years ago.
@ Q ® @

(12) There were still much milk in the bottle when I saw it yesterday.
) @ ® ®

(13) Jack Brown is one of the most famous artist in the world.

O Q@ d @

(14) Thave never read very an interesting novel as this.

® @ 0 @

(15) As soon as I will get a call from you, I will leave home to pick you up from the airport.
@ Q ® @
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( 7 lemons 4 think 7 do T  how Z  you 7 many )there are in the

refrigerator?

O 77—+ Q 77— Q@ A—n ® v—+
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Something ( 7 the world A must 7  make T be Z to 7% done )
better.
O 7—= Q 1—v ® A—H ® H—-v

(18) AL7ZLMBR TR o 7o ethld, BUNZ BRI b2 HikiT~ERL T T E LT,
The lady we met at the station ( 7 to A  was 7 us T enough 7 kind
7 take ) to the city hall.
O v—= Q =——7 @ ——7 @ -7

(19) HZOMITNieholieh, FIzbixZORBITHE Tlhholzi2 A 51T,
If( 7 had 4 her help 7 not T it 7 for 77 been ), we couldn’t have

won the game.

O 7= Q v—= ® v—= @ H—F
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This website ( 7 buy A tell 7 where T will Z  you 7 to ) the

computer.

O v-7 Q@ v—+ ® -7 @ F—n
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(21) When he was an elementary school student, he was made study until he finished his

® Q ® @

homework. ( to )
(22) The most serious problem is the project members are not playing their
@ Q ® @

own roles. ( that )

(23) TItwas agood ideathat everyone agreed with her proposal. ( such )
) Q ® 0

(24) Do you know that Canada is the largest countryinthe world? ( second )
@ Q ® 0

(25) Most the students wanted to speak Japanese, but some didn’t. ( of )
@ Q ® @
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(26) cancer (27)  recovery (28) sleeve (29) meal

(30) pain (31) injury (32)  vet (33) compensation
(34) immunity (35) appointment
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